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E; = —G1+_sz « (~er+(c1-ay)- (1-By(e]))
G, )
+ GG, (=c2+(c2-ay) - (1-By(e-<})), (3.35)

where ‘

Gi = (c1~a1)- (1-B1(€D)), G; = ~(c2-az)- (1-By(e—¢})), (3.36)
and

E5 = ~by+(by+d3) . Ba(e~¢]) (=-by +(by +dy) - Bi(e])). (3.37)
If b1+d2<(b1 +d1)- BI(S), (3.38)
then A

e =64, =1 g5 =0 (3.39)

Ef =-q; - (1-B1(€)-cy - Bi(e) (3.40)

Es = —b; - (1-B1(e)) +d; - By (e). (341)

With (3.27) and (3.29) equilibrium condition (3.6) is identically fulfilled, whereas (3.7)
becomes
02gq;.(=by+(1+d;)- Bi(eD) +g2- (~by + (b2 +d3) - Ba(e~¢}))
forall gy, g suchthat g, +g, < 1. This inequality is always fulfilled if and only if
~b1+(b1+d))-Bi(e]) 0

—b2 +(b2 +d2)- Bz(E—EI) <0

which is equivalent to (3.29).

Using (3.27), (3.32) and (3.33), equilibrium conditions (3.6) and (3.7) reduce to
qi (—Cl +(cy—ay)(1-B, (1)) +q3 (—Cz +(ca —az)(l - Bz(ﬁ“s'f))
A
2 J[q'f (c1+(c1-a)(1-Bi(e)) +g5(c2 + (c2 —az)(1 -Ba(e—£1))] dF (g;)
0
(3.42)

for all distributions F on [0, €], and




